# Fekete-Szegö Problem Associated with $k$-th Root Transformation for the Inverse of Univalent Functions Defined by Quasi-Subordination 

Dong GUO ${ }^{1}$, Huo TANG ${ }^{2}$, En AO $^{2}$, Zongtao $\mathbf{L I}^{3, *}$<br>1. Foundation Department, Chuzhou Vocational and Technical College, Anhui 239000, P. R. China;<br>2. School of Mathematics and Statistics, Chifeng University, Inner Mongolia 024000, P. R. China;<br>3. Mathematics Teaching Department, Guangzhou Civil Aviation College, Guangdong 510403, P. R. China


#### Abstract

In this paper, we estimate the Fekete-Szegö functional with $k$-th root transform for the inverse of certain classes of analytic univalent functions using quasi-subordination.


Keywords univalent functions; Fekete-Szegö inequality; $k$-th root transformation; inverse; quasi-subordination
MR(2020) Subject Classification 30C45

## 1. Introduction

Let $\mathcal{H}$ denote the class of analytic functions in the unit disk $\Delta=\{z:|z|<1\}$ on the complex
$\mathbb{C}$. Let $\mathcal{A}$ denote the class of all analytic functions $f \in \mathcal{H}$ of the form

$$
\begin{equation*}
f(z)=z+\sum_{n=2}^{\infty} a_{n} z^{n} \tag{1.1}
\end{equation*}
$$

in the open disk $\Delta$ normalized by $f(0)=0$ and $f^{\prime}(0)=1$ and $\mathcal{S}$ be in $\mathcal{A}$ consisting of univalent functions in $\Delta$.

Robertson [1] introduced the concept of quasi-subordination. Denote

$$
\begin{gathered}
\mathcal{B}=\{p(z) \in \mathcal{H}:|p(z)|<1,|z|<1\} \\
\mathcal{B}_{0}=\{p(z) \in \mathcal{B}: p(0)=0\}
\end{gathered}
$$

An analytic function $f(z)$ is quasi-subordination to an analytic function $g(z)$, in the open unit disk $\Delta$ if there exist analytic functions $h(z) \in \mathcal{B}$ and $p(z) \in \mathcal{B}_{0}$ such that $f(z)=h(z) g[p(z)]$. Then we write $f(z) \prec_{q} g(z)$. If $h(z) \equiv 1$, then the quasi-subordination reduces to be subordination. Also, if $p(z) \equiv z$, then $f(z)=h(z) g(z)$ and in this case we say that $f(z)$ is majorized by $g(z)$

Supported by the National Natural Science Foundation of China (Grant No. 11561001), the Natural Science Foundation of Inner Mongolia of China (Grant No. 2018MS01026), the Natural Science Foundation of Anhui Provincial Department of Education (Grant Nos. KJ2018A0833; KJ2020A0993; KJ2020ZD74), Provincial Quality Engineering Project of Anhui Colleges and Universities (Grant No. 2018mooc608) and the Key Cultivated Project at School Level of the National Science Fund of Guangzhou Civil Aviation College (Grant No. 18X0428).

* Corresponding author

E-mail address: gd791217@163.com (Dong GUO); Lizt2046@163.com (Zongtao LI)
and it is written as $f(z) \ll g(z)$ in $\Delta$. Consequently, it is clear that the quasi-subordination is the generalization of subordination as well as majorization.

EI-Ashwah and Kanas [2] introduced and studied the following two subclasses:

$$
\left.S_{q}^{*}(\gamma, \varphi)=\left\{f \in \mathcal{A}: \frac{1}{\gamma} \frac{z f^{\prime}(z)}{f(z)}-1\right) \prec_{q} \varphi(z)-1, z \in \Delta, \gamma \in \mathbb{C} \backslash\{0\}\right\}
$$

and

$$
C_{q}(\gamma, \varphi)=\left\{f \in \mathcal{A}: \frac{1}{\gamma} \frac{z f^{\prime \prime}(z)}{f^{\prime}(z)} \prec_{q} \varphi(z)-1, z \in \Delta, \gamma \in \mathbb{C} \backslash\{0\}\right\}
$$

where

$$
\begin{equation*}
\varphi(z)=1+B_{1} z+B_{2} z^{2}+B_{3} z^{3}+\cdots\left(B_{1}>0\right) \tag{1.2}
\end{equation*}
$$

We note that, when $h(z) \equiv 1$, the classes $S_{q}^{*}(\gamma, \varphi)$ and $C_{q}(\gamma, \varphi)$ reduce, respectively, to the familiar classes $S^{*}(\gamma, \varphi)$ and $C(\gamma, \varphi)$ of Ma-Minda starlike and convex functions of complex order $\gamma$ in $\Delta$ (see [3]). For $\gamma=1$, the classes $S_{q}^{*}(\gamma, \varphi)$ and $C_{q}(\gamma, \varphi)$ reduce to the classes $S_{q}^{*}(\varphi)$ and $C_{q}(\varphi)$ studied by Mohd and Darus [4].

The Koebe one quarter theorem states the image of $\Delta$ under every function $f \in \mathcal{S}$ contains a disk of radius $\frac{1}{4}$. Thus such univalent function has an inverse $f^{-1}$ which satisfies

$$
f^{-1}(f(z))=z, \quad z \in \Delta
$$

and

$$
f\left(f^{-1}(\omega)\right)=\omega, \quad|\omega|<r_{0}(f), r_{0}(f) \geq \frac{1}{4}
$$

In fact the inverse function $f^{-1}$ is given by

$$
\begin{equation*}
f^{-1}(\omega)=\omega-a_{2} \omega^{2}+\left(2 a_{2}^{2}-a_{3}\right) \omega^{3}-\left(5 a_{2}^{3}-5 a_{2} a_{3}+a_{4}\right) \omega^{4}+\cdots=\omega+\sum_{n=2}^{\infty} d_{n} \omega^{n} \tag{1.3}
\end{equation*}
$$

For a univalent function $f^{-1}$ of the form (1.3), the $k$-th root transform is defined by

$$
\begin{equation*}
F(\omega)=\left[f^{-1}\left(\omega^{k}\right)\right]^{\frac{1}{k}}=\omega+\sum_{n=1}^{\infty} b_{k n+1} \omega^{k n+1} \tag{1.4}
\end{equation*}
$$

Remark 1.1 Set $k=1$. Then the above expression reduces to the functional $f^{-1}$ itself.
Definition 1.2 ([5]) A function $f \in \mathcal{A}$ given by (1.1) is said to be in the class $\mathcal{M}_{q}^{\delta, \lambda}(\gamma, \varphi)$, $0 \neq \gamma \in \mathbb{C}, \delta \geq 0$, if the following quasi-subordination condition is satisfied

$$
\frac{1}{\gamma}\left[(1-\delta) \frac{z \mathcal{F}_{\lambda}^{\prime}(z)}{\mathcal{F}_{\lambda}(z)}+\delta\left(1+\frac{z \mathcal{F}_{\lambda}^{\prime \prime}(z)}{\mathcal{F}_{\lambda}^{\prime}(z)}\right)-1\right] \prec_{q} \varphi(z)-1, \quad z \in \Delta,
$$

where

$$
\mathcal{F}_{\lambda}(z)=(1-\lambda) f(z)+\lambda z f^{\prime}(z), \quad 0 \leq \lambda \leq 1
$$

We note that
(1) $\mathcal{M}_{q}^{\delta, 0}(\gamma, \varphi)=\mathcal{M}_{q}^{\delta}(\gamma, \varphi)$;
(2) $\mathcal{M}_{q}^{\delta}(1, \varphi)=\mathcal{M}_{q}^{\delta}(\varphi)($ see $[4$, Definition 1.7]);
(3) $\mathcal{M}_{q}^{0,0}(\gamma, \varphi)=\mathcal{S}_{q}^{*}(\gamma, \varphi)$ (see [2, Definition 1.1]);
(4) $\mathcal{S}_{q}^{*}(1, \varphi)=\mathcal{S}_{q}^{*}(\varphi)($ see [4, Definition 1.1]);
(5) $\mathcal{M}_{q}^{1,0}(\gamma, \varphi)=\mathcal{C} q(\gamma, \varphi)$ (see [2, Definition 1.3]);
(6) $\mathcal{C} q(1, \varphi)=\mathcal{C} q(\varphi)($ see [4, Definition 1.3]);
(7) $\mathcal{M}_{q}^{1, \lambda}(\gamma, \varphi)=\mathcal{C}_{q}(\gamma, \lambda, \varphi)($ see $[5])$;
(8) $\mathcal{M}_{q}^{0, \lambda}(\gamma, \varphi)=\mathcal{P}_{q}(\gamma, \lambda, \varphi)$ (see [5]);
(9) $\mathcal{M}_{q}^{0, \lambda}(1, \varphi)=\mathcal{M}_{q}^{*}(\lambda, \varphi)$ (see [6]).

We note that if $h(z)=1$, then the quasi-subordination reduces to the subordination.
(1) $\mathcal{M}_{q}^{\delta, \lambda}(\gamma, \varphi)=\mathcal{M}^{\delta, \lambda}(\gamma, \varphi)$;
(2) $\mathcal{M}_{q}^{\lambda, 0}(1, \varphi)=\mathcal{M}(\lambda, \varphi)($ see $[7])$;
(3) $\mathcal{M}_{q}^{0,0}(1, \varphi)=\mathcal{S}^{*}(\varphi)$ and $\mathcal{M}_{q}^{1,1}(1, \varphi)=\mathcal{C}(\varphi)$ (see [8]).

Inspired by papers [5, 9-12], we obtain sharp bound for the Fekete-Szegö coefficient functional $\left|b_{2 k+1}-\mu b_{k+1}^{2}\right|$ associated with the k-th root transform of the function $f^{-1}$ belonging to $\mathcal{M}_{q}^{\delta, \lambda}(\gamma, \varphi)$. In order to derive our main results, we recall here the following lemmas.

Lemma 1.3 ([13]) Let $p(z)=c_{1} z+c_{2} z^{2}+c_{3} z^{3}+\cdots$ be in the class $\mathcal{B}_{0}$. Then, for $t \in \mathbb{C}$

$$
\left|c_{2}-t c_{1}^{2}\right| \leq \max \{1 ;|t|\}
$$

The result is sharp for the functions given by $p(z)=z^{2}$ or $p(z)=z$.
Lemma $1.4([13])$ Let $h(z)=h_{0}+h_{1} z+h_{2} z^{2}+\cdots$ be in the class $\mathcal{B}$. Then

$$
\left|h_{0}\right| \leq 1 \text { and }\left|h_{n}\right| \leq 1-\left|h_{0}\right|^{2} \leq 1, \quad n>0
$$

Lemma 1.5 ([14]) Let $p(z)=c_{1} z+c_{2} z^{2}+c_{3} z^{3}+\cdots$ be in the class $\mathcal{B}_{0}$. Then

$$
\left|c_{1}\right| \leq 1 \text { and }\left|c_{n}\right| \leq 1-\left|c_{1}\right|^{2}, \quad n \geq 2
$$

The result is sharp for the function given by $p(z)=z^{2}$ or $p(z)=z$.

## 2. Main results

Using the above lemmas, we obtain the following conclusions:
Theorem 2.1 If $f \in \mathcal{M}_{q}^{\delta, \lambda}(\gamma, \varphi)$ and $F$ is the $k$-th root transformation of $f^{-1}$ given by (1.4), then

$$
\begin{gathered}
\left|b_{k+1}\right| \leq \frac{|\gamma| B_{1}}{k(1+\delta)(1+\lambda)}, \\
\left|b_{2 k+1}\right| \leq \frac{|\gamma|\left\{B_{1}+\max \left\{B_{1} ;\left|B_{2}\right|+\frac{\left|k \gamma(1+\lambda)^{2}(1+3 \delta)-\gamma(1+2 \lambda)(1+2 \delta)(3 k+1)\right| B_{1}^{2}}{k(1+\delta)^{2}(1+\lambda)^{2}}\right\}\right\}}{2 k(1+2 \delta)(1+2 \lambda)}
\end{gathered}
$$

and for $\tau \in \mathbb{C}$

$$
\left|b_{2 k+1}-\tau b_{k+1}^{2}\right| \leq \frac{|\gamma|\left\{B_{1}+\max \left\{B_{1} ;\left|B_{2}\right|+\frac{\left|k \gamma(1+\lambda)^{2}(1+3 \delta)+\gamma(1+2 \lambda)(1+2 \delta)(2 \tau-3 k-1)\right| B_{1}^{2}}{k(1+\delta)^{2}(1+\lambda)^{2}}\right\}\right\}}{2 k(1+2 \delta)(1+2 \lambda)}
$$

Proof Let $f \in \mathcal{M}_{q}^{\delta, \lambda}(\gamma, \varphi)$. Then, in view of Definition 1.2, there exist two analytic functions $h \in \mathcal{B}$ and $p \in \mathcal{B}_{0}$, such that

$$
\begin{equation*}
\frac{1}{\gamma}\left[(1-\delta) \frac{z \mathcal{F}_{\lambda}^{\prime}(z)}{\mathcal{F}_{\lambda}(z)}+\delta\left(1+\frac{z \mathcal{F}_{\lambda}^{\prime \prime}(z)}{\mathcal{F}_{\lambda}^{\prime}(z)}\right)-1\right]=h(z)[\varphi(p(z))-1] . \tag{2.1}
\end{equation*}
$$

Since

$$
\begin{aligned}
& \frac{1}{\gamma}\left[(1-\delta) \frac{z \mathcal{F}_{\lambda}^{\prime}(z)}{\mathcal{F}_{\lambda}(z)}+\delta\left(1+\frac{z \mathcal{F}_{\lambda}^{\prime \prime}(z)}{\mathcal{F}_{\lambda}^{\prime}(z)}\right)-1\right] \\
& \quad=\frac{1}{\gamma}(1+\delta)(1+\lambda) a_{2} z+\frac{1}{\gamma}\left[2(1+2 \delta)(1+2 \lambda) a_{3}-(1+3 \delta)(1+\lambda)^{2} a_{2}^{2}\right] z^{2}+\cdots
\end{aligned}
$$

and

$$
h(z)[\varphi(p(z))-1]=B_{1} h_{0} c_{1} z+\left[B_{1} h_{1} c_{1}+B_{1} h_{0} c_{2}+B_{2} h_{0} c_{1}^{2}\right] z^{2}+\cdots,
$$

it follows from (2.1) that

$$
\begin{equation*}
\frac{1}{\gamma}(1+\delta)(1+\lambda) a_{2}=B_{1} h_{0} c_{1} \tag{2.2}
\end{equation*}
$$

and

$$
\begin{equation*}
\frac{1}{\gamma}\left[2(1+2 \delta)(1+2 \lambda) a_{3}-(1+3 \delta)(1+\lambda)^{2} a_{2}^{2}\right]=B_{1} h_{1} c_{1}+B_{1} h_{0} c_{2}+B_{2} h_{0} c_{1}^{2} \tag{2.3}
\end{equation*}
$$

From (2.2) and (2.3), we get

$$
\begin{equation*}
a_{2}=\frac{\gamma h_{0} B_{1} c_{1}}{(1+\delta)(1+\lambda)} \tag{2.4}
\end{equation*}
$$

and

$$
\begin{equation*}
a_{3}=\frac{\gamma}{2(1+2 \delta)(1+2 \lambda)}\left[h_{1} B_{1} c_{1}+h_{0} B_{1} c_{2}+\left(h_{0} B_{2}+\frac{\gamma(1+3 \delta) h_{0}^{2} B_{1}^{2}}{(1+\delta)^{2}}\right) c_{1}^{2}\right] . \tag{2.5}
\end{equation*}
$$

For a function $f^{-1} \in \mathcal{S}$ given by (1.3), a computation shows that

$$
\begin{align*}
F(\omega)=\left[f^{-1}\left(\omega^{k}\right)\right]^{\frac{1}{k}} & =\omega+\frac{d_{2}}{k} \omega^{k+1}+\left(\frac{d_{3}}{k}-\frac{k-1}{2 k^{2}} d_{2}^{2}\right) \omega^{2 k+1}+\cdots \\
& =\omega+\sum_{n=1}^{\infty} b_{k n+1} \omega^{k n+1} \tag{2.6}
\end{align*}
$$

The Eqs. (1.3) and (2.6) yield:

$$
\begin{equation*}
b_{k+1}=-\frac{1}{k} a_{2} \tag{2.7}
\end{equation*}
$$

and

$$
\begin{equation*}
b_{2 k+1}=\frac{1}{2 k^{2}}\left[(3 k+1) a_{2}^{2}-2 k a_{3}\right] . \tag{2.8}
\end{equation*}
$$

Using (2.4) and (2.5) in (2.7) and (2.8) gives

$$
\begin{equation*}
b_{k+1}=-\frac{\gamma h_{0} B_{1} c_{1}}{k(1+\delta)(1+\lambda)} \tag{2.9}
\end{equation*}
$$

and

$$
b_{2 k+1}=-\frac{\gamma B_{1}\left\{h_{1} c_{1}+h_{0}\left[c_{2}+\left(\frac{B_{2}}{B_{1}}+\frac{\left[k \gamma(1+\lambda)^{2}(1+3 \delta)-\gamma(1+2 \delta)(1+2 \lambda)(3 k+1)\right] h_{0} B_{1}}{k(1+\delta)^{2}(1+\lambda)^{2}}\right) c_{1}^{2}\right]\right\}}{2 k(1+2 \delta)(1+2 \lambda)} .
$$

Also for $\tau \in \mathbb{C}$

$$
\begin{aligned}
b_{2 k+1}-\tau b_{k+1}^{2}= & -\frac{\gamma B_{1}}{2 k(1+2 \delta)(1+2 \lambda)}\left\{h_{1} c_{1}+h_{0}\left[c_{2}-\left(\frac{-B_{2}}{B_{1}}-\right.\right.\right. \\
& \left.\left.\left.\frac{\left[k \gamma(1+\lambda)^{2}(1+3 \delta)+\gamma(1+2 \delta)(1+2 \lambda)(2 \tau-3 k-1)\right] h_{0} B_{1}}{k(1+\delta)^{2}(1+\lambda)^{2}}\right) c_{1}^{2}\right]\right\}
\end{aligned}
$$

By Lemmas 1.4 and 1.5, we obtain

$$
\left|b_{k+1}\right| \leq \frac{|\gamma| B_{1}}{k(1+\delta)(1+\lambda)}
$$

and

$$
\begin{aligned}
\left|b_{2 k+1}-\tau b_{k+1}^{2}\right| \leq & \frac{|\gamma| B_{1}}{2 k(1+2 \delta)(1+2 \lambda)}\left\{1+\left\lvert\, c_{2}-\left(\frac{-B_{2}}{B_{1}}-\right.\right.\right. \\
& \left.\left.\frac{\left[k \gamma(1+\lambda)^{2}(1+3 \delta)+\gamma(1+2 \delta)(1+2 \lambda)(2 \tau-3 k-1)\right] h_{0} B_{1}}{k(1+\delta)^{2}(1+\lambda)^{2}}\right) c_{1}^{2} \mid\right\}
\end{aligned}
$$

In view of Lemma 1.3, we have

$$
\left|b_{2 k+1}-\tau b_{k+1}^{2}\right| \leq \frac{|\gamma|\left\{B_{1}+\max \left\{B_{1} ;\left|B_{2}\right|+\frac{\left|k \gamma(1+\lambda)^{2}(1+3 \delta)+\gamma(1+2 \lambda)(1+2 \delta)(2 \tau-3 k-1)\right| B_{1}^{2}}{k(1+\delta)^{2}(1+\lambda)^{2}}\right\}\right\}}{2 k(1+2 \delta)(1+2 \lambda)}
$$

When $\tau=0$, we have

$$
\left|b_{2 k+1}\right| \leq \frac{|\gamma|\left\{B_{1}+\max \left\{B_{1} ;\left|B_{2}\right|+\frac{\left|k \gamma(1+\lambda)^{2}(1+3 \delta)-\gamma(1+2 \lambda)(1+2 \delta)(3 k+1)\right| B_{1}^{2}}{k(1+\delta)^{2}(1+\lambda)^{2}}\right\}\right\}}{2 k(1+2 \delta)(1+2 \lambda)}
$$

By taking $h(z)=1$ in the proof of Theorem 2.1, we have the next result.
Theorem 2.2 If $f \in \mathcal{M}^{\delta, \lambda}(\gamma, \varphi)$ and $F$ is the $k$-th root transformation of $f^{-1}$ given by (1.4), then

$$
\begin{gathered}
\left|b_{k+1}\right| \leq \frac{|\gamma| B_{1}}{k(1+\delta)(1+\lambda)}, \\
\left|b_{2 k+1}\right| \leq \frac{|\gamma| \max \left\{B_{1} ;\left|B_{2}+\frac{\left[k \gamma(1+\lambda)^{2}(1+3 \delta)-\gamma(1+2 \lambda)(1+2 \delta)(3 k+1)\right] B_{1}^{2}}{k(1+\delta)^{2}(1+\lambda)^{2}}\right|\right\}}{2 k(1+2 \delta)(1+2 \lambda)}
\end{gathered}
$$

and for $\tau \in \mathbb{C}$

$$
\left|b_{2 k+1}-\tau b_{k+1}^{2}\right| \leq \frac{|\gamma| \max \left\{B_{1} ;\left|B_{2}+\frac{\left[k \gamma(1+\lambda)^{2}(1+3 \delta)+\gamma(1+2 \lambda)(1+2 \delta)(2 \tau-3 k-1)\right] B_{1}^{2}}{k(1+\delta)^{2}(1+\lambda)^{2}}\right|\right\}}{2 k(1+2 \delta)(1+2 \lambda)}
$$

Remark 2.3 In the special case when $\gamma=k=1, \lambda=0, \delta=\alpha, B_{1}=1, B_{2}=\frac{1}{2}$, the $\left|b_{2 k+1}-\tau b_{k+1}^{2}\right|$ in Theorem 2.2 reduces to the one in Theorem 4.1 studied by Sharma et al. [15].

Remark 2.4 In the special case when $\gamma=k=\delta=1, \lambda=0, B_{1}=2 \beta, B_{2}=2 \beta^{2}$, the $\left|b_{2 k+1}-\mu b_{k+1}^{2}\right|$ in Theorem 2.2 reduces to the one in Theorem 6.2 studied by Thomas and Verma. [16].

## 3. Corollaries

Setting $\lambda=0$ in Theorem 2.1, we get the following corollary.
Corollary 3.1 If $f \in \mathcal{M}_{q}^{\delta}(\gamma, \varphi)$ and $F$ is the $k$-th root transformation of $f^{-1}$ given by (1.4), then

$$
\left|b_{k+1}\right| \leq \frac{|\gamma| B_{1}}{k(1+\delta)}
$$

$$
\left|b_{2 k+1}\right| \leq \frac{|\gamma|\left\{B_{1}+\max \left\{B_{1} ;\left|B_{2}\right|+\frac{|k \gamma(1+3 \delta)-\gamma(1+2 \delta)(3 k+1)| B_{1}^{2}}{k(1+\delta)^{2}}\right\}\right\}}{2 k(1+2 \delta)}
$$

and for $\tau \in \mathbb{C}$

$$
\left|b_{2 k+1}-\tau b_{k+1}^{2}\right| \leq \frac{|\gamma|\left\{B_{1}+\max \left\{B_{1} ;\left|B_{2}\right|+\frac{|k \gamma(1+3 \delta)+\gamma(1+2 \delta)(2 \tau-3 k-1)| B_{1}^{2}}{k(1+\delta)^{2}}\right\}\right\}}{2 k(1+2 \delta)} .
$$

Setting $\delta=0$ in Theorem 2.1, we get the following corollary.
Corollary 3.2 If $f \in \mathcal{M}_{q}^{0, \lambda}(\gamma, \varphi)=\mathcal{P}_{q}(\gamma, \lambda, \varphi)$ and $F$ is the $k$-th root transformation of $f^{-1}$ given by (1.4), then

$$
\begin{gathered}
\left|b_{k+1}\right| \leq \frac{|\gamma| B_{1}}{k(1+\lambda)}, \\
\left|b_{2 k+1}\right| \leq \frac{|\gamma|\left\{B_{1}+\max \left\{B_{1} ;\left|B_{2}\right|+\frac{\left|k \gamma(1+\lambda)^{2}-\gamma(1+2 \lambda)(3 k+1)\right| B_{1}^{2}}{k(1+\lambda)^{2}}\right\}\right\}}{2 k(1+2 \lambda)}
\end{gathered}
$$

and for $\tau \in \mathbb{C}$

$$
\left|b_{2 k+1}-\tau b_{k+1}^{2}\right| \leq \frac{|\gamma|\left\{B_{1}+\max \left\{B_{1} ;\left|B_{2}\right|+\frac{\left|k \gamma(1+\lambda)^{2}+\gamma(1+2 \lambda)(2 \tau-3 k-1)\right| B_{1}^{2}}{k(1+\lambda)^{2}}\right\}\right\}}{2 k(1+2 \lambda)} .
$$

Setting $\delta=1$ in Theorem 2.1, we get the following corollary.
Corollary 3.3 If $f \in \mathcal{M}_{q}^{1, \lambda}(\gamma, \varphi)=\mathcal{C}_{q}(\gamma, \lambda, \varphi)$ and $F$ is the $k$-th root transformation of $f^{-1}$ given by (1.4), then

$$
\begin{gathered}
\left|b_{k+1}\right| \leq \frac{|\gamma| B_{1}}{2 k(1+\lambda)}, \\
\left|b_{2 k+1}\right| \leq \frac{|\gamma|\left\{B_{1}+\max \left\{B_{1} ;\left|B_{2}\right|+\frac{\left|4 k \gamma(1+\lambda)^{2}-3 \gamma(1+2 \lambda)(3 k+1)\right| B_{1}^{2}}{4 k(1+\lambda)^{2}}\right\}\right\}}{6 k(1+2 \lambda)} .
\end{gathered}
$$

and for $\tau \in \mathbb{C}$

$$
\left|b_{2 k+1}-\tau b_{k+1}^{2}\right| \leq \frac{|\gamma|\left\{B_{1}+\max \left\{B_{1} ;\left|B_{2}\right|+\frac{\left|4 k \gamma(1+\lambda)^{2}+3 \gamma(1+2 \lambda)(2 \tau-3 k-1)\right| B_{1}^{2}}{4 k(1+\lambda)^{2}}\right\}\right\}}{6 k(1+2 \lambda)} .
$$

Acknowledgements We thank the referees for their valuable comments.

## References

[1] M. S. ROBERTSON. Quasi-subordination and coefficient conjectures. Bull. Amer. Math. Soc., 1970, 7(6): 1-9.
[2] R. El-ASHWAH, S. KANAS. Fekete-Szegö inequalities for quasi-subordination functions classes of complex order. Kyungpook Math. J., 2015, 55(3): 679-688.
[3] V. RAVICHANDRAN, Y. POLATOGLU, M. BOLCAL, et al. Certain subclasses of starlike and convex functions of complex order. Hacet. J. Math. Stat., 2005, 34: 9-15.
[4] H. M. MOHD, M. DARUS. Fekete-Szegö problems for quasi-subordination classes. Abstr. Appl. Anal., 2012: Art. ID 192956, 14 pp.
[5] N. MAGESH, J. YAMINI. Fekete-Szegö inequalities associated with $k^{\text {th }}$ root transformation based on quasisubordination. Ann. Univ. Paedagog. Crac. Stud. Math., 2017, 16: 7-15.
[6] T. PANIGRAHI, R. K. RAINA. Fekete-Szegö coefficient functional for quasi-subordination. Afr. Mat., 2017, 28(5-6): 707-716.
[7] R. M. ALI, S. K. LEE, V. RAVICHANDRAN, et al. The Fekete-Szegö coefficient functional for transforms of analytic functions. Bull. Iran. Math. Soc., 2009, 35(2): 119-142.
[8] W. MA, D. MINDA. A Unified Treatment of Some Special Classes of Univalent Functions. Int. Press, Cambridge, MA, 1994.
[9] N. M. ALARIFI, R. M. ALI, V. RACICHANDRAN. On the second Hankel determinant for the kth-root transform of analytic functions. Filomat., 2017, 31(2): 227-245.
[10] H. DARWISH, A. M. LASHIN, S. SOILEH. Fekete-Szegö coefficient inequalities for certain subclass of analytic functions involving Salagean operator. Punjab University Journal of Mathematics, 2016 48(2): 6580.
[11] N. MAGESH, V. K. BALAJI. Fekete-Szegö problem for a class of $\lambda$-convex and $\mu$-starlike functions associated with $k$-th root transformation using quasi-subordination. Afr. Mat., 2018, 29(5-6): 775-782.
[12] P. GURUSAMY, S. JANUSZ, S. SRIKANDAN. The Fekete-Szegö functional associated with k-th root transformation using quasi-subordination. Comptes Rendus Mzthematique, 2015, 353(7): 617-622.
[13] F. R. KEOGH, E. P. MERKES. A coefficient inequality for certain classes of analytic functions. Proc. Amer. Math. Soc., 1969, 20: 8-12.
[14] P. L. DUREN. Univalent Function. Springer-Verlag, New York, 1983.
[15] R. B. SHARMA, M. HARIPRIYA. On a class of $\alpha$-convex functions subordinate to a shell shaped region. J. Anal., 2017, 25(1): 93-105.
[16] D. K. THOMAS, S. VERMA. Invariance of the coefficients of strongly convex functions. Bull. Aust. Math. Soc., 2017, 95(3): 436-445.

